



St. Louis County, Minnesota

Date of Report: 5/9/2025 7:45:55 PM

		General Detail	S				
Parcel ID:	387-0090-00560						
		Legal Description I	Details				
Plat Name:	BREEZY POINT						
Section	Town	ship Rang	е	Lot	Block		
-	-	-		0056	-		
Description:	LOT: 0056 BLO						
		Taxpayer Deta	ls				
Taxpayer Name	CARLSON ANDR	EA L & TIMOTHY J					
and Address:	3415 BREEZY P	T RD					
	TOWER MN 557	90					
		Owner Details	5				
Owner Name	CARLSON ANDR	EA L ETAL					
		Payable 2025 Tax Su	ımmary				
	2025 - Net Ta	nx		\$2,811.00			
	2025 - Specia	al Assessments		\$85.00			
	2025 - Tot	al Tax & Special Assessn	nents	\$2,896.00			
		Current Tax Due (as of	5/8/2025)				
Due May 15 Due Octobe			5	Total Due			
2025 - 1st Half Tax	\$1,448.00	2025 - 2nd Half Tax	\$1,448.00	2025 - 1st Half Tax Due	\$1,448.00		
2025 - 1st Half Tax Paid	\$0.00	2025 - 2nd Half Tax Paid	\$0.00	2025 - 2nd Half Tax Due	\$1,448.00		
2025 - 1st Half Due	\$1,448.00	2025 - 2nd Half Due	\$1,448.00	2025 - Total Due	\$2,896.00		

**Parcel Details** 

Property Address: 3415 BREEZY POINT RD, TOWER MN

School District: 2142
Tax Increment District: -

Property/Homesteader: CARLSON, TIMOTHY J & ANDREA L

Assessment Details (2025 Payable 2026)							
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity
201	1 - Owner Homestead (100.00% total)	\$177,900	\$263,900	\$441,800	\$0	\$0	-
	Total:	\$177,900	\$263,900	\$441,800	\$0	\$0	4350





St. Louis County, Minnesota

Date of Report: 5/9/2025 7:45:55 PM

**Land Details** 

Deeded Acres: 0.00

Waterfront: VERMILION
Water Front Feet: 120.00

Water Code & Desc: Gas Code & Desc: -

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

**Lot Width:** 0.00 **Lot Depth:** 0.00

The dimensions shown are not guaranteed to be survey quality. Additional lot information can be found at

	<u> </u>			tails (HOME	tions, please email Propert	,
Improvement Type	Year Built	Main Flo		ross Area Ft ²	) Basement Finish	Style Code & Desc
HOUSE	1995	1,1(		1,272	Dasement Finish	1S+ - 1+ STORY
		Width		· · · · · · · · · · · · · · · · · · ·	- Found	
Segment	Story		Length	Area		
BAS	0	16	30	480	PIERS AND	
BAS	1	12	24	288	PIERS AND	
BAS	1.5	14	24	336	PIERS AND	
DK	0	6	26	156	POST ON GROUND	
DK	0	8	30	240	POST ON GROUND	
DK	0	10	10	100	POST ON	
Bath Count	Bedroom Co		Room Cou	ınt	Fireplace Count	HVAC
1.0 BATH	2 BEDROOF	ИS	-		0	C&AIR_COND, PROPAN
		Improver	ment 2 Deta	ils (GARAG	E)	
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup> G	ross Area Ft ²	Basement Finish	Style Code & Des
GARAGE	1998	78	0	780	-	DETACHED
Segment	Story	Width	Length	Area	Found	ation
BAS	1	26	30	780	FLOATIN	G SLAB
		Improv	ement 3 De	tails (SHED		
Improvement Type	Year Built	Main Flo		ross Area Ft ²	Basement Finish	Style Code & Des
STORAGE BUILDING	0	12	0	120	-	<u>-</u>
Segment	Story	Width	Length	Area	Found	ation
BAS	1	10	12	120	POST ON	GROUND
LT	0	4	8	32	POST ON	
		Improv	ement 4 De	tails (SHED		
Improvement Type	Year Built	Main Flo		ross Area Ft <sup>2</sup>	Basement Finish	Style Code & Des
STORAGE BUILDING	0	64	ļ	64	-	, -
Segment	Story	Width	Length	Area	Found	ation
BAS	0	8	8	64	POST ON	GROUND
		Improvem	ent 5 Detail	s (LAKE DE	CK)	
Improvement Type	Year Built	Main Flo		ross Area Ft <sup>2</sup>	Basement Finish	Style Code & Des
	0	14		142	_	
Segment	Story	Width	Length	Area	Found	ation





St. Louis County, Minnesota

Date of Report: 5/9/2025 7:45:55 PM

		_					
<u>-</u>		•	ement 6 Details	•	. =		
Improvement Type					ement Finish	Style C	ode & Desc.
SAUNA	0	19		192		-41	-
Segmen BAS	nt Story	y Width 12	<b>Length</b> 16	Area 192	Found FLOATIN		
BAS	<u>'</u>				TLOATIN	O OLAD	
		-	ement 7 Detail	•			
Improvement Type					ement Finish	Style C	ode & Desc.
STORAGE BUILDIN		v Width		150 Area	- Found	otion	-
Segmen BAS	1 31013	y <b>vvid</b> iii 10	<b>Length</b> 15	150	POST ON (		
DKX	1	4	15	60	POST ON (		
2.00		·				0.100.12	
Impressement Type	e Year Built	•	•	LAB@SHORE) s Area Ft <sup>2</sup>	ement Finish	Style C	ada 9 Daga
Improvement Type	1995	iviain Fi		s Area Ft - Bas 144	ement rinish	-	ode & Desc. PLAIN SLAB
Segmen			Length	Area	Found		I LAIN SLAD
BAS	0	12	12	144	-	auon	
		Salaa Danautad	to the Ct. Lau	is County Audito	. Mr		
No Sales informat	lon reported.						
		A	ssessment His	story			
Year	Class Code (Legend)	A Land EMV	ssessment His Bldg EMV	story Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity
	Code	Land	Bldg	Total	Land	Bldg	Net Tax Capacity
<b>Year</b> 2024 Payable 2025	Code ( <mark>Legend</mark> )	Land EMV	Bldg EMV	Total EMV	Land EMV	Bldg EMV	
2024 Payable 2025	Code (Legend) 201	<b>Land EMV</b> \$170,700	BIdg EMV \$248,500	Total EMV \$419,200	Land EMV \$0	Bldg EMV \$0	Capacity -
	Code (Legend) 201 Total	Land EMV \$170,700 \$170,700	Bldg EMV \$248,500 \$248,500	Total EMV \$419,200 \$419,200	<b>Land EMV</b> \$0 <b>\$0</b>	### Bldg   EMV	- 4,104.00
2024 Payable 2025	Code (Legend) 201 Total 201	Land EMV \$170,700 \$170,700	Bldg EMV \$248,500 \$248,500 \$248,500	Total EMV \$419,200 \$419,200 \$419,200	\$0 \$0 \$0	\$0 \$0 \$0	4,104.00
2024 Payable 2025	Code (Legend) 201 Total 201 Total	Land EMV \$170,700 \$170,700 \$170,700	\$248,500 \$248,500 \$248,500 \$248,500	Total EMV \$419,200 \$419,200 \$419,200 \$419,200	\$0 \$0 \$0 \$0 \$0	\$0 \$0 \$0 \$0	- 4,104.00
2024 Payable 2025 2023 Payable 2024 2022 Payable 2023	Code (Legend) 201 Total 201 Total 201	Land EMV \$170,700 \$170,700 \$170,700 \$170,700 \$158,000	\$248,500 \$248,500 \$248,500 \$248,500 \$248,500 \$226,100	Total EMV \$419,200 \$419,200 \$419,200 \$419,200 \$384,100	\$0 \$0 \$0 \$0 \$0	\$0 \$0 \$0 \$0 \$0 \$0	4,104.00 - 4,192.00
2024 Payable 2025 2023 Payable 2024	Code (Legend)  201  Total  201  Total  201  Total  Total	Land EMV \$170,700 \$170,700 \$170,700 \$158,000 \$158,000	\$248,500 \$248,500 \$248,500 \$248,500 \$248,500 \$226,100	Total EMV \$419,200 \$419,200 \$419,200 \$419,200 \$384,100 \$384,100	\$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	\$0 \$0 \$0 \$0 \$0 \$0 \$0	4,104.00 - 4,192.00
2024 Payable 2025 2023 Payable 2024 2022 Payable 2023	Code (Legend) 201 Total 201 Total 201 Total 201 Total 201	Land EMV \$170,700 \$170,700 \$170,700 \$170,700 \$158,000 \$158,000 \$146,600	\$181,200	Total EMV \$419,200 \$419,200 \$419,200 \$419,200 \$384,100 \$384,100 \$327,800 \$327,800	\$0 \$0 \$0 \$0 \$0 \$0 \$0	\$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	4,104.00 - 4,192.00 - 3,814.00
2024 Payable 2025 2023 Payable 2024 2022 Payable 2023	Code (Legend) 201 Total 201 Total 201 Total 201 Total 201	Land EMV \$170,700 \$170,700 \$170,700 \$170,700 \$158,000 \$158,000 \$146,600	BIdg EMV \$248,500 \$248,500 \$248,500 \$248,500 \$226,100 \$181,200	Total EMV \$419,200 \$419,200 \$419,200 \$419,200 \$384,100 \$384,100 \$327,800 \$327,800	\$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$	\$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$	4,104.00 - 4,192.00 - 3,814.00
2024 Payable 2025  2023 Payable 2024  2022 Payable 2023  2021 Payable 2022	Code (Legend) 201 Total 201 Total 201 Total 201 Total 701 Total	Land EMV \$170,700 \$170,700 \$170,700 \$170,700 \$158,000 \$146,600 \$146,600	### BIdg EMV   \$248,500   \$248,500   \$248,500   \$248,500   \$226,100   \$181,20	Total EMV \$419,200 \$419,200 \$419,200 \$419,200 \$384,100 \$327,800 \$327,800 Ory	\$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$	\$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$	Capacity - 4,104.00 - 4,192.00 - 3,814.00 - 3,201.00
2024 Payable 2025  2023 Payable 2024  2022 Payable 2023  2021 Payable 2022  Tax Year	Code (Legend) 201 Total 201 Total 201 Total 201 Total Total 701 Total	Land EMV \$170,700 \$170,700 \$170,700 \$170,700 \$158,000 \$158,000 \$146,600 \$146,600	### BIdg EMV   \$248,500   \$248,500   \$248,500   \$248,500   \$226,100   \$181,200   \$181,200   \$181,200   \$Tax Detail Hist   Total Tax & Special   Assessments	Total EMV  \$419,200 \$419,200 \$419,200 \$419,200 \$384,100 \$384,100 \$327,800 \$327,800  Taxable Land M\	\$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$	\$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$	Capacity





St. Louis County, Minnesota

Date of Report: 5/9/2025 7:45:55 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.